SE BOR % i (HE) E4mm
= F12 1.2
2 | B F12 1.2
3 | & F12 1.0
Lo | RISFIW F12 1.0
5 | BmE Y10 1.0
55 1260 1260 110 3X420=1260 110 3XL20=1260 55 6 | i Y10 1.0
A 1T | ERESR Y10 0.7
450 A X
8 | BEIAIE Y10 0.7
| 9 | 2o F12.Y10 1.0
1 1 I 10 | BBF F12 1.0
3 3 11 | BRAZRIL Y10 05
‘ ‘ 12 | Bz F12 0.6
g | g | g - ERETREY F12 07
E J:::::::::::E J::::::::::iE Z 1L J;EEI F12 08
i ‘; RS 15 | #hiR F12 0.6
v | | @ - 16 | 7yn—JL—h F12 23
| | mMm NN A 2[
= il =l — = @ F12- AR d@ss o> /KR (JIS G 3302)
3 3 \ES‘T N Y- BRER -5% 7D AAED > XB|R (IS G 3317)
1 i::::::::::: j::::::::::: é
gx : g : g
o~ | o~ | o~ N2y
| |
| |
AHG—P %nﬁ% =
AR OSEO W& DOEEIO HHEOSRE0O i
| 686 686 686 n
11370 1370 1370 1370
2770
N x 1370 +100 60 FEONTIE 2630 80
50 FONTE N x 1370 50 =
’ iL 1000 _
\ mM
i ‘\i\\ i‘ i‘ 5
(e}
[\
=
L D
g o| i@ g
HINEE S 2 <
| O
mE
12
s
vG.L i\
\ -
(W)

NO.04

< > S5=1/40

686x 1770(mm)
N( )x 3.60 (109 )




